[ Efficiency vs vertpos |

- 05
20.45
2

2 04

<)
$0.35

IC

effi

0.25

0.15

0.05

L

Ratio

e
S

. -
0T e P
e
0.2F -+ [ P
"""""""""""" g

: -

0.1-----e--- foreneeeean B P
............ “
1 ------------ ----- 1HI---IHP-E ------------

Efficiend E %g
~ 0.
9.009
[2]
9.008
oy
$.007
‘©
§0.006
o
0.005
0.004
0.003
0.002
0.004

QE

Ratio

10 0?
TP vertr (cr%)

t1000sta2pH =3

EEEEE:]
DD DA
(DD (DDD,
[eee0)
coec!
O
oo
g

DD D

UUUUL}

[Sejeieele

DD DD

0

0.5

-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~nO

.0

>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002

Y17 R SO MRS NI MO
q_LJ"LlJ.ij.LJ"[i.L!J.lJHEL."lJ.L

Ratio

0.5

%0 =40 =20 0 20 40 60

Sim. PV z (cm)



	Contents
	Page 1


